Name: \(, L\-{ Hour: Date:

NOTES: Section 7.5 - Special Types of Linear Systems

Goals: #1 - I can identify how many solutions a linear system has. @ @ (3_-‘)
Homework: Section 7.5 Worksheet

Exploration #1: Work with a partner. Graph both linear equations §n the same graph.

A
i
4x+y =28 5
-4X -4 4J‘b
\{ = —‘-%X*% 3 \
T
2x -3y =18 - 0 . 6"1
h?": y 7% 65 4-3-2-10 lx\l :kﬁ
3y=-2x 4 \¢ EELED
3 2 73 ) ,@‘
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i y
% =2 "\0 /)( \
4= 25 = \
\
Circle where these lines intersect. Can you check if your answer lS correct?
(3.~ 4) 4(3) + 1=1) = URH-F= ~n -\3
‘ \2-4°% VA
33V 13- |3~/

Notes:

A \ \Yu U\X S\&\me , consists of two \\ m&r equations.

A S “ \Uﬂ () h of a system of linear equations, is anjw\r

(x,y) where the graphs of the equations in a system \ T\HYS Q [,t
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Exploration #2: Work with a partner. Graph both linear eﬁt}«m on the same graph.

2x+y=4
-Tx ~1xX

\j:—bu“i .

-Ix  ~lx
\j—’ "LX 'i'\

2x+y=1 1:.444446:5:\3456&'

Circle where these lines intersect. Can you check if your answer is correct?

Thiy dont A

Lines that never intersect are called ?OkYQ“ U \ ‘ m 5
Since the graphs of the system do N() E intersect, we have n“ S 0\ Uﬁ Un .

__3 -,le*! A
=3 -3
4x—3y=\o -5 6 s /
- 94X ¥
4 4 \j:%x-*?» ; )4
8x—6y=11 _ gx +12 ;
~px ~ X .103 :j- - 1L .
- Y IEREERL /2 3 4 5 6 |
K %x'z /
A
5
Y

Circle where these lines intersect. Can you check if your answer is correct?

Em VLY qoirw‘.
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Notes:
' )
Lines that intersect at every point are ’\’Y\Q/ 3 (LN \ \ m ’

Since the graphs of the system intersect at E VE‘Z\‘ point, we have

mﬁm%lq‘_m(mg soluhions

01K SOWTION| NS Solurion MENRY Moy

X A

Example #1: Tell how many solutions the system has.

1. ] T T 2. 77T ] 3.
| ir z . | l Ay ‘ 4"’

| A T A 3¥_

2 A » = B | 5__4_,
: ‘-‘x r‘ l-_..

‘L [“?vl 3 /J/l/{ 1\1“

l
ONE NO SULTION TNEINITELY
Example #2: Use the graphing method to tell how many solutions the system has. ™M A N\’
1 2x+y=8 3 J° 'Z’;*Bg 2. 2x+y=7" ‘i"zxg )
- X - -y = -
RN N x4 g Y 2; 3’3:(1?_

™ ;gk ‘ N/
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Warm Up: Use the graphing method to tell how many solutions the system has.
1. —-6x+2y=4 *2?\

3ox tox :
’L\j‘:‘DX *"‘2 ,(,7‘
- 3x 4 P g
—9x + 3y =\%2 v WO N\ ) i
*‘b\ .',C‘x ) \I\)‘<\ o 5 4 1#? 1 2 2 4 56 |
'5\5:(])( £12 O }_
y=3x ¢4 iims

1 7
2. When would a linear system have \Y\{’\[\\K\% W\(U\\ﬁ Soluneny

W ¥y ot the seme Wi
Review:

We know that when we solve linear systems, we could have _QNL solution, _N_Q solution,

or_\N F\N \TE L\, MANY solutions.

What does this look like algebraically?
ONE SOLUTION NO SOLUTION _ INFINITELY MANY SOLUTIONS

<=3 WL N0 dples  4yop out
\5—;—- \2’” 6?0
(3,-1)

Example #3: Use substitution or elimination to solve the linear system.

a. x=-2y=4 3 X:""tlg ‘g-(éx+y=—1)
=0y =4 . —Y-3y=3
5(44Ty) -y = 8 K*;\j“—ﬁ
12 toy-lpy =3 ) -0
\2 % INFINGTELY
N0 SOLUTION MANY SOLUTIONS
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Example #4: Use substitution or elimination to solve the linear system. Then describe the
graph of the system.

1. —x+y=7 = \3:1*7(

A Z(:I:;S = -\% ORGSR VTS NWF“
7% -9 -7x =-1% 13 YB”‘S‘_‘.\_\-S'\ LIRS,
-4 £ -\% T
WO SOLLTION
‘Z) —4x+y = -8
(-12 +3y -]24 TS VRS m()\)‘ﬂk
‘ )ZX‘ \j'-z,bi W \\m
0-0
I WNFAWNNTELY

MANY  SOLL TIOND
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